Quiz 2: Antiderivatives and Areas
January 18, 2012

Name: Section:

Instructions: Be sure to write neatly and show all steps. Circle or box your final answer. Answer
both questions (second one is on the back).

1. Given f(x) = 15\/z — 9sin(3z) with f/(0) = 4 and F(0) = —1, find f(x).
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2. In class, we found that the area under the curve y = f(x) between a and b is
A= tim (f@)de+ fE)de + fas)det -+ fan)Az).

Explain in your own words where this equation comes from. Be sure to be specific and explain

the meaning of each symbol.
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Eixtra Credit: Circle one to complete the statement:
For the function f(z) = 1/z, if we approximate the area between 2 = 1 and & = 2 with left

A ) \n

endpoint Riemann sums, our approximation is an:

over-approximation - under-approximation
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